KEZ 2015 FlEI—RT7L > Ry JELRSERADS S 7 FH =t
(15270316) 727K mI B
& 5 HEEEELRERS R EF &1l I
(271030)
H B FTm27%4811H (%)
= # FEILSARSEEEN
7 & —MEHEAN XRELHEEHS
N DER
BT HE] O00M
| 1E [FE| K E4 ES Ea SCE% s |FEE| K EA EZ E2 ECE%
1 1] 0 [FR K ®HY21Z7 6 12.82 2l 1l 0 a2 EC ULhKSC 6 13.72
2] 0 |l X¥E TIZHJAC 6 13.15 2| 0 [ KT %&# BABE 6 13.80
3 0 [ B BIZHJAC 6 13.24 3] 0 [ BX BIZHIAC 5 14.21
4] 0 |hE B9 ZAAC 6 13.62 4 0 [+ EE3H BIZHIAC 6 14.23
5| 0 [Hm@E £EX HRJ 6 13.82 5] 0 [&® BER HRJ 6 14.23
6| 0 [ #EX RARAC 5 13.90 6| 0 [IUE #X 2hzxkxy7 6 14.29
71 0 [ EBEF UshKSC 6 13.90 7] 0 [HX =S KHEY1Z7 6 14.31
8| 0 |#dF FRER BAS1ZT 6 14.07 8l 0 [&#F & IZHJAC 6 14.58
3 11 0 [BH #n UbhtKSC 6 14.26 4 1 o [EE &4 IZHJAC 6 14.37
2 0 [t B3 HiEAC 6 14.43 2 0 [Exk 3R ULHKSC 6 14.48
3| 0 [h7FH B WEC1Z7 6 14.53 3| 0 [P Mt IZHJAC 5 14.77
4 0 |[ElB &R BAC21=7 6 14.58 4 0 [=2F B3 HRJ 5 14.88
5| 0 |#E@m R BIZHJIAC 6 14.86 5| 0 |¥H EE HiEAC 6 14.91
6] 0 |FT XIE HiEAC 6 14.94 6] 0 [FEf =8 ZAAC 4 14,93
70 0 |79 9tvz1 94— 2 HJAC 5 14.99 7] 0 ;W #EE BRABE 6 15.28
0 |Afhi BRFE |uonrksc 6 DNS 0 [Affi jE/y |uvesnrksc 6 DNS
5[ 1] o0 |80 #EW HiEAC 6 14.55 6 11 0 ['ZH & ZAKAC 6 13.97
2| 0 [FAEH [BE HRJ 6 15.33 2 0 [fU¥F SRAER |FEAC 6 15.23
3 0 [/hvE =# HRJ 6 15.37 3[ 0 JIE % HiEAC 6 15.89
4] 0 [RE IThXK ULNKSC B 15.38 4] 0 |FH X ZARAC 6 16.85
5| 0 |K® F:N HRJ 6 15.42 5| 0 |F#W &#FE [ZXKAC 4 17.00
6] 0 |[GlE FTaf ZARAC 6 15.50 0 |BEO XFH B 6 DNS
71 O |ME8 #{= HRJ 6 15.62 0 |y AR |HFIEAC 6 DNS
8l O [&H &8 |XRAAC 6 15.86 O [fA #EFn |ueniKsc 6 DNS
71 1] o0 |[®A Tﬁﬁj(EB UshEKSC 5 15.19 8| 1] o i@ =& ZXAKAC 5 15.77
2] 0 | B =3 |%E¥a=7 6 15.41 2| 0 |BF Ex ZXAAC 6 16.10
3| 0 [##E &k HiEAC 6 15.42 3| 0 [WhA £ FERE= 6 16.49
4] 0 |hAx & HRJ 4 15.73 4 0 [#E3 EA HRJ 4 16.50
5| 0 |#% B4 HRJ 5 15.83 5| 0 |#85% XER HRJ 5 16.73
6] 0 |=2 B HRJ 4 15.96 6] 0 [#V {2473 9F % i2HJAC 4 16.91
71 0 |ngf M= BAC21Z7 6 16.04 7] O |84 FnyE HiEAC 6 17.10
8| 0 |IZA& B HRJ 6 16.95 8| 0 |XE N ZXAAC 5 17.23
9] 11 0 [ B ZKAKAC 5 14.06 10| _1] O |#R& EH#R EERE— 5 16.67
2 0 [+B FE ZXAKAC 5 15.49 2 0 [EX ®AX FiEAC 4 16.76
3| 0 [T Hhin HiEAC 5 16.04 3| 0 [#E3 BX HRJ 4 17.09
4] 0 |KkEF #K ZXAKAC 5 16.04 4] 0 |k X FEAC 4 17.09
5| 0 [IUN I eh2¥v7 b 16.13 5| 0 |4 K& H1EAC 4 17.31
6] 0 [Ihx = HRJ 6 16.45 6] 0 |BH It HRJ 5 17.52
7] 0 |XKIE (= HRJ 6 16.90 7] 0 |#EFF A= ZXAAC 5 18.78
11 1] 0 | K XHE ZTAKAC 5 16.16 12| 1] 0 |AF EX H1EAC 6 16.02
2] 0 |EE WX UbhtKSC 5§ 16.60 2| 0 [k HE H1EAC 4 16.89
3] 0 [IhX EF BEE— 5 16.61 3/ 0 [/vE # HRJ 4 16.97
4] 0 |I'F =7 HRJ 4 17.29 4| 0 [#FF —’faT HRJ 6 17.72
5[ 0 |pfg #tX AFHEAC 5 17.37 5| 0 |BBFH F= BAC1Z7 5§ 18.13
6] 0 [ZiE A Ehzrv7 5 17.39 6] 0 [&2=8 &3 ZAAC 5 18.84
7] 0 |HE EH BIZHJAC 6 17.60 0 &I #E FHiEAC 4 DNS




13| 1| 0 |BBR E&H IZHJIAC 4 15.82 14 1] 0 [EE BX BABE 6 14.35
2| 0 |5 _XKFn_ | FEAC 4 16.47 2| O |&kMH IFAR |#HHBHE 6 14.48
3] 0 [Bf& X EEE_ 6 17.22 3] 0 |& L KEY21=T7 5 14.63
41 0 [iEH ZR# Ehz2%xv7 6 18.12 4 0 [ FF KH> 217 5 15.26
5 O |mnfE #E#E |FEBAC 4 18.47 5[ 0 |/\#&  #B&Ek WHAY1=7 6 16.21
6] O [AIEX HX SEAC 4 18.67 6| 0 | FA X BEHABE 6 16.79
7] 0 |PUEF RmIA AHEAC 4 19.06 0 [fg@A fBX ®WHY21=7 5 DNS

. PNEBEFHE] QO0m XA LRABDER

s |FEE| K & HEZ g SCE% A |
1 0 [FR X WHY21-7 6 12.82 -
2 | 0 |hsp  X¥E WIZHJAC 6 13.15 -
3 0 &8 B LIZHJAC 6 13.24 -
4 | 0 |#E =4 ZAAC 6 13.62 -
5 0 |[BHe =1 UsHhEKSC 6 13.72 -
6| 0 | KT Xk# EABE 6 13.80 -
71 0 |HME £X HRJ 6 13.82 -
8 1| 0 |FH H#EX ZAKAC 5 13.90 —




NPEFHBSOOM
| A 1E [FE K EA ES g 08X s (FEE K EA ES = sCE%
1 1] 0 |g1A BM WEHC1-7 6 2.29.53 2 0 [Z@ % ZAKAC 6 2.30.86
3] 0 [E&JI Mt |HRJ 6 2.33.76 4 0 [feH EH EAC21ZT § 2.34.49
5| 0 |8 BBX UbHKSC B 2.35.52 6] 0 | Bt HRJ 6 2.37.03
7] 0 il feABR |FEAC 6 2.38.10 8l 0 |8 i@ |usrrksc 5 2.39.35
9| 0 | =% ZXAKAC 6 2.39.61 10| O ik M Eh2*¥v7 6 2.41.74
11| O [$EM IEER BHEEER 6 2.48.78 0 |t XI& FHEAC 6 DNS
0 |l KE wHS1=7 6 DNS 0 |G WK [ZRAKAC 6 DNS
2| 1] o |&Hl 1B84% UbHKSC B 2.47.14 2] 0 H&lL FFEH |FEE_- 5 2.48.94
3] 0 [K& Ex ULHEKSC B 2.49.47 4 0 [m mE HRJ 4 2.53.29
5| 0 |8 1&A 2h2¥v7 6 2.54.16 6] 0 [IuAx EF EEE_ 5 2.55.18
7] 0 JZEH BL¥E ULhKSC 6 2.56.10 8] 0 [IhA & FEE= 6 2.56.70
9| 0 |Hig #& HRJ 4 2.58.11 INEES PN ZAKAC 5 3.01.05
11] 0 |.FH $X BEHABE 6 3.02.49 12| 0 | H#FE |ZKAC 4 3.06.03
0 |FOo X% BIERE 6 DNS 0 |AAX & FEE= 5 DNS
3 1] O [P M BIZHJIAC 5 2.52.99 2l 0 [xB8 R— Bhzxy 7 B 2.54.74
3] 0 |FH X ZAKAC 6 2.58.87 4] 0 |IUAN IEER 2dh2¥v7 5 3.01.12
5| 0 |#&B WE BAC2ZT 4 3.05.39 6] 0 [=F &ZE HRJ 4 3.06.27
7] 0 |XKiEE 15tb HRJ 4 3.08.36 8] 0 [E+ EE#H BIZHJIAC 6 3.09.41
9] 0 |A&* B FEAC 4 3.11.37 10| 0 |5K%F k& HRJ 4 3.11.65
11] 0 |=& K FEAC 4 3.12.92 12| 0 |[&#BE ™—Bf |FEAC 4 3.13.25
13| O |fngk  #tX FiEAC 5 3.25.68 14| 0 |K¥ #KX ZXAAC 5 3.26.17
4] 1] 0 |[ KT £ BRHABE 6 2.41.58 2 0 [EE BX BRABE 6 2.47.85
3| 0 [FH Em WE>2-7 5 2.51.62 4 0 [EX ®KX BFIEAC 4 3.05.63
5[ 0 |=pBE X0 FHEAC 4 3.06.67 6| 0 | =R RIZHhJAC 6 3.07.84
70 0 i #XK ZAKAC 5 3.08.51 8] 0 [F=ZE #X ERXC2ZT 4 3.10.31
9] 0 |hEe X% FEAC 4 3.18.38 10| O |/npx #Ettk | FEAC 4 3.23.01
0 |[FJ)I #IE FEAC 4 DNS 0 |8 =3 ZXAAC 5 DNS
0 BB 8 ZAKAC 5 DNS
NEBETHFEEOOm XA LRBOHEE
5 [E5] K E4 MEZ 2 soE% & |
1 BiH  FEM WHZ21Z-7 6 2.29.53| —
2 EE R ZAAC 6 2.30.86| —
3 E&)I Bt |HRJ 6 2.33.76 | -
4 =R i) BACa1=T 6 2.34.49
5 BJIl BX UbHKSC 6 2.35.52| -
6 =g Et HRJ 6 2.37.03| -
7 JIEE fEKER [FIEAC 6 23810 -
8 &8 Fhic UbHKSC 5 2.39.35 | —




BT HEAX100m v

& |&5 = (B f) & |&F - (g f)
| f2UE &8 K £ e ip-| e [EEEES K % e il R
MW BT venrksc-A 6 1 |q hl BY %wECYa=7 6 1]q
1 B AN vsprrksc-A 6 2 |55.07 2 IR K %ECaz=7 6 2 [55.31
HE (-  vesrrksc-a 6 3 A BEM  ®EYaz7 6 3
EAK PR}  vesrksc-A 6 4 Hit {HCS %\AYa=7 6 4
=Z BBt HRJ 5 1|a BFAT FNAE FHEAC 6 1
3 BA HER HRJ 6 2|56.47 4 i B+ FHEAC 6 2[1.04.79
1 R B HRJ 6 3 $#%I Ht FEAC 5 3
HE ZX HRJ 6 4 pi[i];: N N FEAC 5 4
BN Ex ZXAAC 6 1 SRl E HRJ 6 1
# 5 MEF K= ZAAC 5 2[1.05.20 6 Kig B HRJ 6 21(1.05.40
PN I ZXAAC 5 3 ®E £t HRJ 6 3
FEH &KX ZAKAC 6 4 TE —# HRJ 6 4
g me Bhzty7 6 1
ME A #ezxvy7 6 2 |DQ2-3 DNS
xa5 R— 2hz2¥vy7 6 3
WH X hz2xv7 6 4
H IEER HHABE 6 1|q mE REE &x>1=7 6 1|q
1 AT KA MHABE 6 2(57.40 2 F  IRER gAv1z7 6 2 |57.59
il HEE O ARHBE 6 3 ElE ERH BAY1Z7 6 3
EE O BA O BHABE 6 4 TR EEA BAY1ZT 6 4
N+ 'K ZXAAC 5 1 A &G HRJ 6 1
3 LlE Z5% X AAC 6 21]1.00.66 4 EA&N Bt HRJ 6 21(1.02.06
2 ZKR WK ZEAAC 6 3 fEg Sl HRJ 6 3
Fil EHF8 ERAKAC 4 4 fHE BBE HRJ 6 4
FE OBK HRJ 4 1 WE  E5R BEE=- 5 1
W 5 A & HRJ 4 211.04.86 6 AR & BEE_— 5 2(1.06.63
HiE 1E HRJ 4 3 A EF BEE=- 5 3
=ZF §E HRJ 4 4 FIL fFEHh EEE— 5 4
= #EE FEAC 4 1
7 2E —B FEAC 4 2[1.15.08 DNS
FPe  AF FEAC 4 3
JniE FEHE FEAC 4 4
HE R wIZhJAC 6 1 ]qg #BHB s FEAC 6 1
1 RHE T4E BIZHIAC 6 2 |56.70 2 JIlE {#AER HFIEAC 6 2]1.00.48
&F # WIZHhJAC 6 3 PIEy RABF BHAC 6 3
PTER M} BIZHhJAC 5 4 JIE s FEAC 6 4
/J\;‘% "é HRJ 6 1 *Q}}EJ fﬂ%j(_al'g UbNKSC-5A B 1
3 RE RN HRJ 6 2]|1.01.07 4 4% R verrkscsa 50 211.01.85
3 *’1}# ﬂj& HRJ 6 3 ﬁ;ﬁ E vshtKSC-5A B 3
FEL XK HRJ 6 4 EE EK vorkKksc-sA 5 4
B8H 5 ZAAC 6 1 FED EIK HRJ 4
W5 HE BHE ZAAC 5 2[1.03.76 6 LT =% HRJ 4 211.08.03
KE #AK ZAAC 5 3 E OB HRJ 4 3
A N ZAAC 5 4 KB R4 HRJ 4 4
BE it HRJ 5 1
7 HE BE HRJ 5 211.08.45 DNS
BY KER HRJ 5 3
BEA B HRJ 6 4
A B3 wiIZhJAC 6 1 ]q FH X ZAAC 5 1]q
1 =8 B HIZHJAC 6 2|55.78 2 FE B ZAKAC 6 2(58.41
IJ-J ':F' j:%ﬁ fd: ‘: bJAC 6 3 JL,FEﬁ %*ﬁ? 5%7'( A C 4 3
5 #EX LIZHJAC 5 4 ZH F ZARAC 6 4
mT KIE FEAC 6 1 A+ BF FEAC 4 1
3 &0 ER FEAC 6 2 |58.67 4 fiheR K FiEAC 4 211.08.11
4 Wt wt FEAC 6 3 EE: NN FEAC 4 3
¥H e FEAC 6 4 X RX FHEAC 4 4
EBA TE HRJ 4 1 B FF WHAY2-7 5 1
5 Kix Inth HRJ 4 21(1.10.29 fem X wEra1=7 5 2 |DQ3-4
TF f&E HRJ 4 3 FH T WEYa21z=7 5 3
JC ) HRJ 4 4 = = WHY1=7 5 4

DNS




RSB T A EAX100m )V R DER
NO|& = 5 x| (IBAL) NO|& = 5 oams | (IB1L)
B -l K £ B F | S0 IE |h-b] K £ e £ -] ECEE
At BE3R WIZHIAC 6 1 R REX ZARAC 5 1
1 =28 Ei TIZHJAC 6 2 2 S PE-F ZARAC 6 2
5 #X wIZHIAC 5 53.83 AT ) ZARAC 4 3154.00
BB Bd  |WIChJAC 6 2 ZW T *AAC 6 4
M BT vsntKSC-A G ] R BH [(xEvaz7T 6 1
3 B &N VBAEKSC-A 6 2 4 ER  K#y [w\Eraz7 6 2
He =1 venrtksc-A 6 3 154.29 BIE  BBm ®WH>2Z7 6 3 1|54.72
=5k 1Rt veriKSC-A G 4 HA 2 |xEvaz=7 6 4
=2 By HRJ 5 1 $HHA  IEHER WHBSE 6 1
5 A ER HRJ 6 2 6 AT XK# BHEAE 6 2
FRZE B HRJ 6 3(56.28 WHE AR BHAE 6 3156.78
HiE £ZX HRJ 6 4 EE BK BMHEAE 6 4
B TIZHJIAC 6 1 mE REE eXxv1=7 6 1
7 A 4 BIZhJAC 6 2 8 BF AR EXv1Z7 6 2
&1 £ wIZhJAC 6 3(56.79 Elg = gkxva2=7 6 3(57.86
BarER  JfE st WIZHJAC 5 4 2 B BAC1Z7 6 4
SR T S e R
B R
F X £ K& =) B | ERd B |\ |EAH K £ IS 2 | B |04k
ol + B3 FHEAC 6[1114m17 O[T #AER gxva2z=7 6 | 2 [4m00
OfpIEF RAES |F1EAC 6 | 3|3m87 0|8F #EX wIZHJAC 5 [ 4 [3m80
0|FxE B HRJ 615 [3m63 0|77 ntv=x yr—A{ % IZHJAC 5 | 6 [3m54
O|B# &ZE |XAAC 6] 7[3m53 Ol Him |#¥HLBHE 6|8 [3mb2
o|&F # BIZHJAC 6] 9 |3m50 Ol#+ EE3E wIZHJAC 6 110]3m49
O[FEHE £ wIZHJAC 6 |11[3m49 OliFsL XX HRJ 6 112(3m46
0|80 #Epk FHiEAC 6 |13[3m41 0l&)Il & HRJ 6 [14|3m24
opIlE s FHEAC 6 115[3m16 Ol &k HRJ 6 116/3m15
O[EF43  FO¥E FHEAC 6 117[3m10 O[fnEE X HiEAC 5 118[3m04
O[HHE HiE ZAAC 5119[3m02 O|lRE Ex IZHhJAC 4 120|2m98
olxsf B ventKsc 5 [21[2m91 0|=EAR X## FHEAC 4 122|2m88
Olf£1H IR EL x> a2zZ7 4 [23|2m83 O|BIE MK HiEAC 4 124(2m79
OlFX RAX FEAC 4 [25[2m70 ol&zE8 m—E; |FEAC 4 [26|2m64
OlFEA =& HRJ 4 127[2m63 Ol/mpk #EtHk |HFBAC 4 128[2m51
ol @#E |F®mAC 4] |DNS




N FHE]IQOmM

| A 1E [FE K EA ES g 08X s (FEE K EA ES = sCE%

111 0 DETE EMR [SICHIAC 6 13.21 2 1] 0 [HE\E & SMT VT B 14.52

2| 0 UE# H¥=x |84v2-7 6 13.65 2| 0 |5BIFr T OBHEE 6 14.71

31 0 "Nl kK& UbhKSC B 13.72 3] 0 |5 REH |%ZKAC 6 14.72

41 0 | X2 FHEx |BmIZHIAC 6 14.05 4] 0 lIiA  ER VohtKSC 6 14.49

5| 0 [m% = ULNKSC B 14.44 5] 0 [ME RZ= EXY1ZT 6 14.81

6| 0 [l #&ZE UbntKSC 6 14.46 6] 0 [Nl &< B |ushrrKSC 6 14.95

7] 0 |AE % YSD KIDS 6 14.46 7] 0 |7 M=E ZXAAC 6 15.08

8| 0 [&4& 0% BIZHJAC 6 14 .52 8 0 |&H <5 |[ZAAC 6 15.23

3 1] 0 (BRI 2P [LITHJAC 5 14.63 4 1] 0 [5A W& ULHKSC 6 14.97

2| 0 |BH E#  |292xv7 6 14.72 2| 0 |B@E =& HIZhJAC 5 15.02

3| 0 [Ef mxAn ULhKSC 6 14.74 3] 0 [KEE %% HRJ 6 15.16

4] O |#E SFFE |%Er1=7 6 14.80 4 0 [ BHE HRJ 6 15.28

5| 0 |54 X BA 17 6 14.83 5| 0 1B =t BEHABE 6 15.37

6] 0 |8 #% BIZHJIAC 6 14.96 6| 0 |*RHE B KMT Y7L 5 15.53

7] 0 |#E Kth #IZhJAC 5 15.02 7] 0 |& B8R BABE 6 15.54

8l 0 IIl'F =7 HRJ 6 15.05 8l 0 [BK xx |HITHhJAC 4 15.70

5 1] 0 [&=*x =ER BAC1ZT 6 15.32 6] 1] 0 |IiBm =& Us»KSC 6 15.39

2 0 |BR wpu FHEAC 5 15.34 21 0 |E# HHhit |usrrKsSC B 15.44

3] 0 [EE &= FHiEAC 6 15.39 3] 0 [He HX FiEAC 6 15.48

4] 0 [ihHRm —3 UbHKSC 5 15.45 4] 0 |A¥A XEBFE |#MT7v 7L 5 15.72

5| 0 |0 %7t FiEAC 6 15.57 5| 0 (A& HB #IZHJAC 6 15.78

6] 0 [&&F %A BRHABE 6 15.68 6]l 0 [AAL B BAC2-7 5 15.86

7] 0 iFfE #7y  |%RAAC 5 15.84 7] 0 A HF  [#MTvIL 5 15.89

8| 0 [MA HiZE STy TN 6 16.19 8l 0 |#M BAES |HICHIAC 6 15.96

7 1] o |WTF = FiEAC 5 15.36 8 1] o [mHE =& FHEAC 6 15.47

2 0 [t REAH FiEAC 6 15.73 2l 0 [BE)n =% SMT v TN 4 15.50

3| 0 [B& HFE  [#MTvTL 5 16.22 3/ 0 [A#H = VLntKSC 6 16.19

41 0 [H =& UbAKSC 6 16.35 4] 0 |NE HEE UsHhKSC § 16.23

5[ 0 |H) —= ULHEKSC 5 16.36 5| 0 [EX Fox FiIEAC 5 16.28

6] 0 |l REE BFHEAC 6 16.40 6] 0 [EJI_/BE BAC1ZT 4 16.54

70 0 |HE FfE |#RHABE 6 16.53 7] 0 |BEX 3 2MT7yTL 5 16.63

8|l 0 |HE x |8%k>a-7 b5 16,74 8l 0 |FA Hau SMT TN 5 16.86

9| 1| 0 [®BE T&F |v»»ftKsSC 5 16.31 10| 1] 0 |[ME #F ULHhKSC 5§ 16.22

2] 0 [KAR FHZE |[4I2HhJAC 5 16.95 2 0 [dbE  Fuqr HiEAC 6 16.79

3 0 [FE & M7y TN 5 17.09 3] 0 |58 #%uH |FEAC 6 16.85

41 0 |FE® FT= MHABE 6 17.13 4 o [F) == VLhtKSC 6 16.91

5| 0 |M& &3 KMT vy 7L 5 17.25 5| 0 [BlBEE&EF HRJ 5 16.99

6] 0 |AEl #0f%& |=2+z2*xv7 6 17.51 6] 0 [¥#8 mx= UbntKSC 5§ 17.14

0 |3 HA IZhJAC 6 DNS 7] 0 |EE #F BAYa1Z7 5 17.44

110 1] 0 Bk &®<¢H |FEAC 5 16.24 12] 1] 0 |HA %nft |EEE— 4 16.88

2 0 [173 B3 GHiEAC 5 16.70 2 0 [®#E 1A FHiBEAC 4 17.27

3] 0 |3R¥E =0 FEAC 4 16.70 3] 0 |EEA BEE UbhtKSC 5 17.48

4] 0 [BE% Pg3E  |B%xraz=7 4 16.99 4 0 [X$8 H= BAY1ZT 4 18.06

5| 0 [&mW IE FEAC 5 17.17 5| 0 [#HE D#EE [4I2HIAC 4 18.34

6] 0 DIE H#i ZAAC 4 17.53 6| 0 |7z B8 STy TN 4 18.63

0 |[BA #HxK XAKAC 5 DNS 7] 0 |[AT EBExE EAkC2-7 5 20 47

13 1] 0 [MHE HE WHE>21=7 5 15.18 14| 1] O %@ FIF WHY1=7 6 14.45

2| 0 |k& HWE WH21Z7 6 15.61 2| 0 |#m %KE WHY1=7 6 15.28

3| 0 [ffiE BTy KEP2=7 5 16.09 3 0 [ /FE KHY1Z7 5 15.55

4] 0 |K®1 &y WHY2=7 5 16.43 4| 0 [#E@ ¢ ®HY1=7 5 15.79

5| 0 [ZH #&F wWEU1-7 5§ 16.99 5| 0 |Z=EHm FF WHU1=7 5 16.69

6] 0 |FAEF BA BEE— 4 17.93 6] 0 |[#FH = WHU1=7 5 16.90

7] 0 |8+ HEH EEE_— 4 19.51 70 0 |F+m M3F [BHASE 6 16.96
. L THEIQOm 2ALRBOESR
s [E5] K E4 EZ e siE% & |
1] 0 BT EM [#ICHJAC 6 13.21 -
21 0 VBEH HZE=E [8Fx¥1=7 6 13.65 -
3 0 [/ KEE USHKSC B 13.72 -
4 | 0 | XAR FK |BIZHIAC 6 14.05 -
5 0 |y =22 UsHh=KSC B 14 .44 -
6 | 0 [#F FF WHY1-7 6 14.45 -
7 0 | #BZ UsHhKSC B 14 .46 -
7 0 | B == YSD KIDS 6 14.46 —




NELZFE00m

g |ES| K EA ES g 08X s |FEE K EA ES =
1] 0 |#Mk W& ZXAKAC 6 2.34.60 2l 0 [HE REZE BEY1ZT 6
3| 0 |FEH = Bh2ry7 B 2.42.15 4] 0 |¥Oo ®1it FHEAC 6
5| 0 |[&®E ®EA FHEAC 6 2.47.24 6| 0 |H KKEH |%ZAAC 6
7] 0 |BH FE= 2h2¥v7 6 2.56.19 8l 0 [Bs8 #%n# |AFEAC 6
9| O [paEEt FEE [RAAC 6 2.57.18 10| 0 [mHE & g24h2xv7 b
11] 0 | EAX FOk HEAC 5 2.59.14 12| 0 |hEE Bt UbhKSC B

0 [IRA HIEME |FHI 5 DNS
11 0 [®E ©A HiEAC 4 2.53.87 2| 0 |HsF ®xK SEAC 6
3] 0 [BR wu FHiEAC 5 2.56.60 4| 0 |BEH &L FEAC 6
5 0 [XJI 2= ZAKAC 6 2.59.51 6| 0 |58 FE=Z UBHEKSC 5
7] 0 £ EBEFE HiEAC 6 3.03.30 8] 0 [A+E MIF |#MHBHE 6
9] 0 (/AR =& HFEAC 6 3.04.07 10| 0 |5 TF1& UbhKSC 6

11] 0 |HtA #F HIZHIAC 6 3.06.63 12| 0 |BH &FH VohtKSC 5§
13[ 0 [(EW B FHEAC 5 3.20.55
1] 0 [3RE =AF FHiEAC 4 3.06.31 2 0 [FHE FifE BRHABE 6
3| 0 [fis ¥ E HIZHIAC 6 3.09.70 4 0 ['MER = |8x2a=7 5
5| 0 |#E BEER |#ITHIAC 6 3.18.14 6] O [HE D#EE |ITHIAC 4
70 0 |A)I = EEE— 4 3.22.44 8| 0 |ZEE #7 HRJ 4
9]l 0 [X$8 HZE EXCa=7 4 3.27.56 10| 0 |HA it |EEFE— 4
11] 0 |B4 PBE BAC21ZT 4 3.36.74 0 [#& B BIZHJIAC 6

0 [BA #Hx ZXAKAC 5 DNS
NELZT800m XA LRBOESR

=S EA ES g siE% A |
1 MK W TARAC 6 2.34.60| —

2 ME RZE BEAY31Z7 6 2.41.23 | —

3 BAt x£i  |g2exxv7 6 2.42.15[ -

4 ¥Oo ¥ FiEAC 6 24513 -

5 HE BA FHEAC 6 2.47.24 | -

6 SH EKI [RKAC 6 2.53.81| -

7 ME A FHiIEAC 4 2.53.87| -

8 Hef i HiEAC 6 2.54.28 | —




N T A EAX100m v

& |ES | (IEf) & |EY = | (B L)
B EEES K £ B el ERe IE_| &% K £ e il R
A =R verrksc-a 61 [( R &N ZAAC 5 1
1 Fih B vhenrtKksc-A 6 2 [56.42 2 &H I<H H%HKAC 6 2(1.01.99
HE 2 UenEKSC-A G 3 PIEE | FHZE ZAAC 6 3
I ﬂiﬁt’n’ UenKSC-A 6 4 ik BRE ZAAC 6 4
MER FERA BFYa2zZT 5 BE Hu FEAC 5 1
3 BE T gxva21z=7 5 211.06.04 4 W FEAC 5 2(1.08.45
1 B HE  BEva1z7 5 3 AH Tx FEAC 6 3
A B BAYaz7 5 4 Fh EE SEAC 6 4
FBAR Fli SMTy 7L 5 1 BA RBEE ventKsSc-D 5 1
#I 5 tE = gMry7r 5 211.09.22 WE EBF  oerrksc-o 5 2 |DQ3-4
Gigiey H,iEE SM7TYy 7L 4 3 M BeE vertKsCc-D 5 3
WA #E %U‘U v7IL 5 4 F)l EF venrrKSC-D B 4
LR %ﬂﬂ IZHJAC 5 1
EH =85 n IZhJAC 5 2 |DQ3-4 DNS
il #%  BIZHhJAC 6 3
5L SxE ALICHhJAC 4 4
WIEF B AISHIAC 6 1 g HA ER X217 6 1|q
1 KR FK BIITHIJIAC 6 2 |55.52 2 ME REZE %$>1:7 6 2(57.62
RE Jeth CZbJAC 5 3 S8 X BAY a1z 6 3
= R L IZHJAC 6 4 BHFH O HZEE %x/l:T 6 4
A FF lJJ\EH/J 7 6 1]q He BK FHEAC 6 1
3 K BE wEvaz7 6 2|59.77 4 2R BX HAC 6 211.00.99
2 MEME RE KES1Z7 6 3 HE RBA BFEAC 6 3
fiEH s ®HEv2z=7 6 4 O ®iE FEAC 6 4
BlBZET HRJ 5 1 mwH THE ventksc-c 6 1
Il 5 =¥ =HZE HRJ 6 2(1.01.36 6 B HHta vesrksc-c g 2 |1.02.61
Kix Kk HRJ 6 3 HH =23 venrtksc-C B 3
T EA HRJ 64 VA AR ventksc-C_ 6 4
RE  ERE FHEAC 4 A1
7 HKk ©<H FHEAC 5 2(1.06.48 DNS
f7a] BEH FHEAC 5 3
Em FE SFHEAC 5 4
5 W% ZARKAC 6 1]q WA iz KMFTY T 6 1
1 SH KRxH EFZAKAC 6 2(58.74 2 FM HEF gM7y 7L 5 2 (1.03.86
HA WM ZAAC 6 3 BA SMPy7L 5 3
hE ME ZAKAC 6 4 B § SMT YT 4 4
N FEE vehtksc-5A 5§ 1 FH EIF wHY2z=Z7 5 1
3 s —F venrksc-sa 5 2 11.04.40 4 HH 2 wAraz=7 5 2 (1.05.21
3 nNE #&#& verkksc-sA 5§ 3 RiE B ®H>2=7 5 3
*E}:? F&E VLAEKSC-5A B 4 TR FF WHS1Z7 5 4
Xih HBHE gAv1=7 4 1 A BHR FEE— 4 A
5 AT Be3 gxva2=7 4 211.09.30 6 HAO %ot EFHE— 4 2]1.13.05
2F E#E B4Ava1z7 5 3 mE EA EEE— 4 3
B B BAvazT 4 4 a)ll % EEET 4 4
ME #T wIZHIAC 6 1
WiE BBEER AIZHJAC 6 2 |DQ1-2
we TE IZHJAC 6 3
He HEE WIZHJAC 6 4
W —#F  ovserkscs 5 1 |q & XA MHER 6 1|a
1 /J\JII I vermksce 6 2 (59.18 2 AR =R BAEAE 6 2(1.00.49
LR YUH UshKSC-B G 3 4 i8R WHSE 6 3
B2 BEAD verrkscB B 4 BIET Mm% MHEER 6 4
A BB g7y 7r 5 1 |q MHE B KAY1z=7 5 1
3 HiE & gMN7v7Lr 6 2 11.00.67 4 WHE e wEY2=7 5 2 11.00.76
4 X KEHE gMTvINr 53 Kai &Y wE>2z7 5 3
HHE B M7y 7L 5 4 NS 3 KEY2z7 5 4
I T V5 3 Bhz*xvy7 6 1 AR Fk FEAC 5 1
W 5 BH  EiE gf2¥v7 6 2 (1.03.58 6 BmE #4#A& AEAC 6 2[1.04.80
Al & 2hz2xy7 5 3 &R B AEAC 6 3
=Sl XF Bhz2*¥v7 6 4 JbjE B OEAC 6 4




AT A EAX100m )V R DER
NO|&E = 5 o | (IEAL) NO|&E = 5 onms | (IB1L)
B -l K & B F | S0 B (-l K & e &£ or-|  ERER
REA 1A wIZHJAC 5 1 A =R vhrrKsSCc-A G 1
1 EVE S BIZHIJAC 6 2 2 ESITI-E-S vhhEKSC-A 6 2
I B [HicHIAC 6 3 |55.71 gy 22 venrksc-A 6 3 |55.94
ki{% %K TIZHJAC 6 4 N1 ﬂ%ﬁ% ULrEKSC-A B 4
HA EXR EXva2z=7 6 1 TE OME ZAKAC 6 1
3 ME RZE BAS2Z7 6 2 4 RE M ZAKAC 6 2
=8 kM gEAxYa2zZ7 6 3(57.69 BA ##E ZAKAC 6 3[58.67
BwH HEE |BAva1z=7 6 4 4 AxF |RAAC 6 4
AR —2 ventKSCc-B 5 1 WA FF wEY21zZ7 6 1
5 )| XL B |verrksc-B B 2 6 Ky HE WHY1Z7 6 2
£H U veniksc-8 6 3 |59 .21 HEHE KRE wWHY21z=7 6 3(59.84
A2 BERN vEnEKSC-B G 4 il s RHE>2Z7 6 4
SE XA MHEAE 6 1 AR B SMTvTL 5 A
7 Rz = BMHEAE 6 2 8 HiE & SMTYTL 6 2
& WHBE 6 3(1.01.22 2 KER |smTy7r 5 3(1.01.37
JUPT mZ  BHEER 6 4 HE B M7y TN B4
IE F B RE
F ] X E2 e =) B | ERé £ K E4 e = | B |5oek
HE WHE ZAAC 6]1]3m96 MR Bk smrvy7r 5| 213m80
ER =i IZHJIAC 5| 3 [3m62 Bl ¥ #IZHJAC 6 | 4 |3m62
WE EE 54227 6| 5|3m61 HiE & =27y 7L 6 | 613m58
& Wk ZAAC 6| 7[3m54 &  psR MASE 6] 8([3m45
HA EXR gxva2=7 6|9 [3m44 WA BE gM7y7r 6 [10]3m40
MHE _ #F wIZHJAC 6 |11[3m39 =8 kM gAx2a2zZ7 6 |12[{3m35
A KEE |[#Mrvy7r 5113[3m32 5E XA BHEBHE 6 [14|3m31
tE = M7y 7L 5 115[3m28 E )| ZE N7y 7 4 116|(3m28
KA 2 M7y 7n 5 117|3m23 T FE M7 v7r 5 118|3m21
nAx #&E gM7y 7 5 119[(3m17 HAK H<CH |HFIEAC 5 120|3mi4
Bl BR = BMHEBE 6 121[3m08 dbfE Fudt FHEAC 6 122|{3m05
RE Jeth IZHJIAC 5 |23[3m00 EAX sMT v 7L 5 |24]2m95
Y G FHEAC 5 125[2m88 FIl WE FHEAC 6 [26[2m83
FAR Hp KM7 vy 7L 5 |27[2m81 2R &= FEAC 6 [28|2m63
E& = MHEEE 6 129[2m60 B BEY M7y 7L 4 130]2m59
RE #AF gxva21=7 5 [31|2m43 HE RBA FHEAC 6 132(2m40
A B3 EACI=T 4 NM Fig L BEHBERE 6 NM
It B LFEAC 4 NM r4y  AwE EIE— 4 NM




